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(A)  All] =A[2]; Al2]=A[1];
(B) AI3]=A[1]; Al1]=A[2]; Al2] =A[3];
Eg)) A;[2L] =A[1]; ARBI=A[2]; All]=A[3];
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i 90~100 ¥ 5 A% > 80~89 x5 B % > 70~79 ¢ JQCEE S++)
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BePE o AR A E N Ao printf(" %d",s);
(A) 20(B) 11(C) 2 (D) 10 if (s>=90)
printf("A");
else if (s>=80)
printf("B");
else if (s>=60)
printf("D");
else if (s>=70)
printf("C");
else
printf("E");
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(D) 01357911 {printf("%d " i):
i++:
}
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inti,};
(A)20 (B) 10 (C)6 (D)7 int sum=0;
for (j=0; j<5; j++)
for (i=0; i<j; i++)
{
sum=sum-+i,
b
printf("%d",sum);
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